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total=0
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x=int (input ("EMFTANL T80
total+=x;
print{('C N EZTDHEETIF {1 .format (total))
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total=0

def input int():
x=int (input ("BHEFA AL T I 0
return x

- — _— e =n

total+=input int()
print {° “hETDEST »' L Format (total))
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def getInput():

a%gaLxmraﬂrmﬁ@TEH%Aﬁbf{EEU='H
if 0 <= a and a <= 100:

print ("EEL LA FEFITITEL D)

B’ o el

a print ("EELLWAATIZHYLIFA )

score=getInput ()

print ("AAEIN-0®|1 ) . format (score) )

1. breakX>X Tld/i < CcontinueXZ={ERA L TCL\D
2. break([EIRE C(Icontinue) DAIEHYHE D
3. Return>XhH\Edih =1 C LV




